©
2013 2015

Study on applicability and influencing factors of an anti-fatigue smart material

TAKAHASHI, 1CHIHIKO

2,700,000

Validity of an anti-fatigue smart paste, which is a mixture of fine and very hard
particles and a viscous fluid, has been experimentally confirmed when applied to various enclosed spaces
such as bolt holes, microcapsules or welding roots. Also the influencing factors, such as viscosity of
the paste, particle material and particle size, have been comparatively studied. Concerning the crack
retardation phenomenon by the wedge effect of foreign matter in a crack, crack growth analyses have been
carried out using finite element models, and the thickness and forming range of the wedge have been
guantitatively examined invoking the actual crack growth data. In addition, a new method of visual

etection of cracks using viscous fluid with high thixotropy was invented and validated experimentally.



uab oooo

obooobobooonog

gobooobooboboboobooobo
ob0oobooboboooboobooon
oooobOoO0oooobobobobboooon
o0oobooboboooboobbooon
ob0ooboobooobobobooboon
ob0ooboobobobobobooboon
oobbo0o0oobboooobooooboo
ob0ooboobobOoooboboobooo
obooobooboboboobobooboon
oobbo0o0oobboooobooooboo
oooobOoO0oooobobobobboooon
oobbo0o0oobboooobooooboo
ob0oobooboboooboobooon
oobbo0o0oobboooobooooboo
oboboooboo0obooboboboobooon
oobooboOooooobobobboomon
oobbo0o0oobboooobooooboo
oooobOoO0oooobobobobboooon
obooobooboboboboboobooo
oobbo0o0oobboooobooooboo
ob0oobooboboooboboobooon
oobbo0o0oobboooobooooboo
oMoooooobobobboooooooboo
ob0oobooboboooboboobooon
oobbo0o0oobboooobooooboo
ob0oobooboboooboboobooon
oobbo0o0oobboooobooooboo
ooooboboboboooboooboobo
oobbo0o0oobboooobooooboo
oboooboobobooboboboobooon
oobbo0o0oobboooobooooboo
ob0ooboobobooobobooooon
ob0ooboobobooobobooobob
oobbo0o0oobboooobooooboo
ob0ooboooboobobobooboon
oooooo

oooobgo
goobooooooooobboboogo
ob0oboobooobooboboboobooon
oobbo0o0oobboooobooooboo
oboobooboboobobobooboob
obooboooobobobobooboon
obooboboooboboobobooboon
o0oobooboboooboobbooon
ooooboooboobo
goboobooobooboboboobooobo
oboobooboboooboboobooon
oobbo0o0oobboooobooooboo
oboobooobooboboboobooob
oboobooboobon
oooobobbbooooobobbboo
oobbo0o0oobboooobooooboo
obooboobobobooobooooon
oboobobooobooobooo
goobooobooboboboobooobo
O000bO0000bOOo FEMODOODOOO
obooboobooboo

ooooboo
() 0000000 0DO0O0O0OO0oOOoOoOooO
oboooog
ooooboooboobo
01gbo0obooboboboobooobo
ob0oobooboboobo 200000
oobboo0oobbooooboooobo
obooobobobobooooooobooobo
oboobooboboboooboobooob
oobboo0oobbooooboooobo
gooboooooboboboooooooo

16

: o
-t N~ R — ]
Roll. direction @ ®

I /\
100 | 108 100

| t=10 |

1 \

Dimensions in mm.

01 OOOoOOoOoopoooo

\

EDM notch (width:0.3)

M10 bolt (stem length:30)

- < M10 spring washer
...i — M10 plain washer
—

.

M10 plain washer
M10 spring washer

Smart paste
K

M10 nut

02 D0OO0O0O0DOOOOOooOoOoooDooo

gbooboboooboobooo
goboboobooobooboooobg
goooboooooobobobbooooon
goobobooooobbooogooooo 5
mm 0000000000000 30000
gooobobbooooboboooboobo
goooboobooobg

2¢
10| —E—

EDM notch (width:0.3

— // —
Roll. directtion 70 E

10R
90

90

480
{t=5
T

dimensions in mm.

03 ODOoOoooooo



gobooobooboooboobon
g4000000000DO0O0ODOODOO
oo0oobo0ooobobooboobon
00o00obo0obob0o0obOoOonD 10 mmO
oooobooboboboobooboo

04 0DO00OO0OOOOO0OO0OO0

() D0ODO0DoOO0O0OOOoOo
0000000000 00OO0O0OonDon
0000000000000 DODoOO
000000000 00BOOOOOOOD
0000000000000 O00O0OOO0On
0000000000000 000O0O0On
ooo
00000000 OoO0oOoOoO
000000000000 3000000
0000000000000 wWeO
000D s5000000000000000
0000000000000 0O0O0OOO0On
00 sS0000000000000000n
oooooooooO

(3 0000000000000 0OO000O0
gobgopoooboooboobob
gobobooooobogoobobood
gboobuoobooboboobooon
OooooOoOoOoboOooFEOOOODOOO
gbooobuoooboobooboobobon
gboobuooboobobobobobob
goobbooooobobboooooobo

gooooo
() D000DO0DD0O0O00O0O00OO00O000O0
gooooo
gobogoboooooog
gboooobobooooboooobb
gogbobosboobobobooboboo
gogbgoobopobgooboboobod
gogooboboobooboboobod
gogboobobpoobooobboobod
gogboobeddnouoobobOoOobDOO
gogboobopooboobooboood
gbooooboboooboogooboo
gogbgooboboobobooboood
goboooboOoooooooospiOon
gbooooboboooboogooboo
U00DmmOO000OO0O0O0O0OO0OD0DOO
gobgoobobooboobooobod
goob 14 mmdO000o0ooooOg

goSpsg0oooooOoOooOoOoOoOooon
goboobopobooboooboboobooo
gobooo o7 mmOO0ODOODODOODOOO
oSp00000ooOoO0oooooooon
gboooobbooooboooboobooo
goboobopobooooboboboobooo
gobooobooboobobobooboo
gobooooboobon
goboobooobooboYoboboo
goboooboobooboboboobooo
gboooobbooooboooboobooo
goooboobooboobobbobooo
0014 mm0O0000000OO0OODOO0O
gopoosp3s00nooOoOoDoOOoOoOOOoOn
gobo0obopoboobooooboboobooo
goboooboobooboboboobooo
goboobopobOobo edbooboOonO
gob 350000000000 00bDOO0O

06 0Dogooooooboooooooo

30

ABN-3 : BN (crack)
20 | o PA-3: BN+SP1 (black color) é‘
0 PA-3 : BN+SP1 (crack) lé&;
©PB-3: BN+SP1+SP2 (black color) i
10| | mpPC-3: BN+SP1+SP3 (black color) A

PA-3 (crack)

:
: HpA3
a Lot (black color)
34 ! I}
5 BN 3A H 'l uen =
. Po3|

Crack length and black color indication (mm)

Cycles

06 OD0O0O0O0OOOODOOOODOOO
oboooooogo

-
=
o

—0—BN (BN)
v —e—PA (BN+SP1)
-#-PB (BN+SP1+5P2)

-
=
(=]

-
o
o

—&-PC (BN+SP1+SP3)

©
o

=3
(=1

x
Y]
%31

£

Nominal stress range, Aa,, (MPa)

Failure life, Ny (cycles)

gboboooogo
RN

[
Ood
O
Ood
O
Ood
O



ooooobbbooooobobbboo
gboooobobooooboooboobooo
gobo0obobobobooooboboobooo
gobooboooboboboboboobooo
000D000O0O0OSEM 0D0ODOoOooooo
gboooobobooooboooboobooo
goboobooobooboboboobooo
gobooboobobooobboboobooo
gboooobobooooboooboobooo
goobobbooooobbooobobo 2038
mmO0O00000000000O0O00O00O0O0OOd0
gbooooboboooobooobobooo
gbooooboboooobooobobooo
gobooboobooobobobo sgotd

goboobobooboobooboboo
goboobooboooooobobooboo
2~3mmO0000000000O0000O00O00O0
goboobooobooboobooboo
goboobooobgooboobooboo
gbooooboboooobooooobooo
gbooooboboooobooooobooo
goboooobooban

goboopoooboooboobon
gbooooboboooobboooobn
goboobooobgooboobooboo
gbooooboboooobooooobooo
goboobooobgooboobooboo
goboobooboobooobbobooboo
goboobooooboooboboooo
goboobooboooooobobooboo
gobooobopooobD woobbooboo

gboooobbooooboooboobooo
gobooooono

gobgopoooboobooobob
gooboobooboo4b00000000
gobgoboboogooboboobod
gobgoobobpooboob400000
gobooboboo noogboobod
gobgoobobpobgooboboobod
gobgooooobobgooboboobod
gobgobobosaspbgooobod
gobopooobooo

gboboooogo
god

gboooooo
goooooo

(2 DOD0OOoDOoOoOooOOoOoO
00000000000 00DO0OOn

0 120000000000000000
000000000000 00O000000
0000000000000 0O0O0OO0OO0OO
000000000000 0O00D0O0OOn
000000000000 0O00D0O0OOn
000000000000 0O00D0O0OOn
000000000000 000O00000
0000000000000 0000 1.65
000000000000 000O00000
000000000000 000O00000
00000000000 0000O0OO000DO
000000000000 0O00D0O0OOn
ooooo

000000000000 0O0OO0ODooOOo
0000000000000 0O0O0OO0OO0OO
0000000000000 0O000O0oO
00000000000 0000O0OO000DO
000000000000 0O00D0O0OOn



oobbo0o0oobboooobooooboo
o0oobo0oboboboboooboobo
oooooobOo0obobooboboobob
oobbo0o0oobboooobooooboo
ob0ooboooboobobobooboon
ob0oobooobooboobobooboon
oboobooboboobobobooboon
o0ooboobobobooboonog

® Alumina paste (25°C)
1000 1 Osilicone grease (25°C)

Ke

X %\\7
6o
100 PO Mo

VS ;)5 |

R 0sg .

Viscosity, npand ng (Pa-*s)

1 10 100

Rotational speed, Ng (rpm)

012 0O0OOO0ODOOOOOOOOO

oboobooboobon
500000000000 DbObDO0DO
o0oobooboboooboo sbooo
o0o0oboboboboo0obo 1130b00n
goobooooooooobboboogoo
O000b0o0obOoo0onDg 429y mQOdO
O1B2um000000000O0O0OO0OO
ob0o0ob 210028000000000
O0ooooooboobobooonog 47.3
pmO0000000000000O0000OO0
obooboobbooboboboobooon
obooboobobOooobobooboooo
ob0o0obOobD 1e00bOob0bOObOOO
oboooboooonog

130
O None
g @ silica
< 120 Py oWC I
~ '\ ‘x ® Alumina (47.3um)
3l O Alumina (15.2um)
) 110 § B Alumina (4.29um) |]
jo)] .
s o 2 =
©
@ 100 N \
173 .
8 N
@ \
2 90 9 o0 N
£
o
z

80
5x10° 108 2x108

Failure life, N¢ (cycles)

013 0OO0OO0O0OOOOOODoOOoOoOooOoogo

(3 000000000000 0OO0oOoOoDoO
oboooboboooboooboboo
oooboboooobbooooboboog
oooobooboobobooobooboo
oo0oobooboobobooobooobo
00000000 MARCOOOODDOO
000000000000 0000OoOFEDO
o0o00ob0o0 400000000Db00OO
ooooooooboooooboboooon
O000000O0ODO0O0OFE DOOOODOO

ooooboobOo 75y mO00O000O0OO
oooooooooo0ooboboboooon
ooooboobobobooboobog 150
oooobobobobobooboboobooon
oo0ooboobooboboooboobon
DoO00D0O0ODODOODOODOOO

ﬁLoadmgdirecﬁon

Longitudinal center axis of the specimen

kgrowth Wedge Notch
direction (5mm)

Fatigue crack

014 0000000 FEOOO

10°® —
-e-nopaste —
-O-alumina paste —
@ nopaste (FEA) (I
© alumina paste (FEA, w=w(cal)) | |
107 =
E P ~
2 ","' Vi
(8]
E 10°® ] &
% R}
3
10
10‘10 L "
10 20 30 40

AK(MPa»m12)

015 FEOOODOOODOOOODDOO

(4 00000000 O0O0O000OO0O0O0
gogno
goboboooobobooobooobg
gobbooooboboooobbooooon
gbooboobobooboboooboon
oboobooboboooboooboon
gbooobooboboobo wedbogn
obooobooboboobg agbooon
goooboooooobobobbooooon
obooboobobooboooobooon
gooobooboboboo wvoboo

High
viscosity

High
viscosity

High
viscosity

Low
viscosity

D

Low
viscosity

Low
viscosity

S m__Cave

Base
material
surface

016 0O0O0OOOOOOOODOOOOOOO
gooooo



017 ODOOOOOOOOOOOOOOOOO
gboooboooooog

goooogoooba
oboobooobooboboooboon
gogno

ooooomag sod
Ooododooooodoooooooon
dododooooooooooooood
Oo0doooooooooooooooon
O00oooodoo 33000 30020150
pp. 211-2230
https://www.jstage.jst.go.jp/article/qjjws/33
/3/33_211/_pdf

Ooododdoododoooooooon
Oodoooooooooooooooooad
00000 64 006 O 0O20150pp. 290-2970
https://www.jstage.jst.go.jp/article/jjsndi/64
16/64_290/_pdf

O0000000ooooooooooog
dooooooooooooooooooo
O0oo0oDoooooooooog 1300
0 20020130 pp. 335-35000
http!//www.nmri.go.jp/main/publications/p
aper/pdf/21/13/02/PNM21130202-00.pdf

gboooomg 200
opogogogooonpoooobooon
gobbooooboboooobbooooon
gooobobboboooboobboobo
0 245 0JO00O0OO0O0OODOOFSODOOOO
FS-1245-150 2015.

Ooododooooodoooooooon
OO0 0000000 KANRINDGS OO
20140 pp. 24-300
http://ci.nii.ac.jp/els/110009838873.pdf?1d=
ART0010351033&type=pdf&lang=jp&host
=cinii&order_no=&ppv_type=0&lang_sw=
&no=1460953217&cp=

goooogn
oOODOOO /OO
gboooboobooog
gooopooog

ob0oobooboobon
gooono

00000 2016-18825
oooobo201ed 20 30
oooobg oo

ob0oooboooboobobobooboon
ooooboobon

oooopooog
oboobooboobon
obooboboooboooboboo
00000 2015-152492
oo0oo00o0b020150 70 310
oooobog oo

ob0oooobobobobooobooobon
ob0oob0obobobobDooboobooon
oo

oooopooog
oboobooboobon
obooboboooboooboboo
00000 2014-199185
00000020140 90 250
oooobog oo

ob0oooboooboobobobooboon
ooooboobon

oooopooog
oboobooboobon

oooono

00000 2014-162628
00000020140 80 80
oooobog oo

ob0oooobobobobooobooobon
ob0oob0obobobobDooboobooon
oo

oooopooog
oboobooboobon

oooono

00000 2013-199185
oo0oo000b020130 90 260
oooobog oo

oo0oooo
(oooo-

00 0O00O0OTAKAHASHI ICHIHIKOO
00000000000 000000000
o0o000ooooon

000000 30425748

@ooooo

00 OO00OTANAKAYOSHIHISAO
00000000000 0O0O0O0Dooon
0ooooooooO

O0O0O000 70399517



